Outline

Hodoscope calibration involves 4 steps:
o Time Walk try/
o Cable Time teyp/e
@ Propagation Time tpy0p

@ Time Difference between Planes t

So far | have looked at t7yy. For info on how each step is done go to:

hallcweb.jlab.org/DocDB/0009/000970/001/hodo_calib.pdf
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hallcweb.jlab.org/DocDB/0009/000970/001/hodo_calib.pdf
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To account for the time walk we fit this: fryy = ¢ + ﬁ?
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Since ¢1 is just an offset, for calibration we only care about c.
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Figure: tracking all positive PMTs on the 1st hodoscope plane
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similar plots are made for the other planes

Figure: tracking all negative PMTs on the 1st hodoscope plane
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Reference Times

| have just fiddled with these a little bit, but | have no idea what they do.

BAR NUM:

Figure: /PARAM/TRIG/tshms.param, | have changed pTRIG1 and pTrig2
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Reference Times

Here pTRIG1 has min = 5000 and max = 6000
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| am unsure as to whats happening here, entries seem to just move.
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